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5. Given: Y =C#14G, C=Cy4bY, I=1I, and G=Go,. where - Co =135, b=038,
40=75,4nd Go=30. (a) Find the equation for the equilibrium level of income in the reduced
form; “(b) Solve for the equilibrium levelof income,: [ ) 6]

é, (a) What output mix should a profit-maximizing firm produce when its total profit function
is 7 =80x—2x*-xy-—-3y*+ 100y aund its maximum output capacity is x+y =12?
(b) Estimate the effect on profits if output capacity is expanded by one unit. (! 07/5)

7. National iicome (Y) is increasing by 1.5 percent a year; population (P) by 2.5 percent a
year., What is the rate of growth of per capita income (PCY)? ( /Oﬁ

5. Given .. Q =700~2P +0.02Y, .where "P =25 and Y =5000. Find (a) the price elas-
© ticity of demand and (b) the income elasticity of -demand. (!06 7 )
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